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Instructions : (1) Write on given five questions.
(2) Figures to the right side indicate marks.

1. (a) Explain the concepts.
Birth Rate, Death Rate, Literacy Rate, Population Density
OR
Examine the causes of Population growth.

(b) Unemployment problem in India.
OR
Characteristic of Indian Economy.

2. (@) Examine the trend of Gross Domestic Product in India.
OR
Write on relative contribution change in National Income since 1991.

(b) Examine the benefit of green revolution.
OR
Causes of law productivity of agriculture in India.

3. Write short note on any four :
(1) Infant mortality
(2) Poverty in India
(3) SexRatio
(4) Causes of inflation
(5) Remedies to increase productivity of Agriculture
(6) Liberalization

4. Write in short any six :

(1) What is Fertility ?

(2) What is Privatization ?

(3) Absolute and Relative Poverty
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(4) Whatis G.D.P.?

(5) Components of Green Revolution.
(6) Age Composition

(7) What is Agriculture Productivity ?
(8) What is Economic Reforms ?

5. Do as directed : 14
(A) Fill in the blanks : 4
(1) Interval of two population counting is
(@ 5years (b) 7 years
(c) 15years (d) 10years
(2) Economic reforms started in year.
(a) 1981 (b) 1991
(c) 2001 (d) 2011
(3) Who was the pioneer of green revolution in India ?

(4)

(@ Norman Borlaug
(b) Ramnathan
(¢) Amir Khusaro

Name the economist who started national income accounting in India.
(@ VKRV Rao

(b) P.C. Mahalnobis

(c) Monteksingh Ahluvalia

(d) None of these

(B) Match the following : 5
(A) (B)
(1) Poverty (@ 10 years
(2) Fiscal measures (b) Free import-export
(3) Liberalization (c) Technological & Institutional
(4) Agriculture production  (d) Taxation
(5) Census population (e) Poverty line
(C) True or False : 5
(1) Inflation is continuous process of price rise.
(2) Below 14 are child labourers.
(3) Indian national incomes order is agriculture. Industries, service sector.
(4) Birth rate and Death rate are calculated for 1000 persons.
(5) Land reforms means efficient use of land.
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